GROSS ANATOMY EXAM 3 2005
1. In a brief test of your patient’s cranial nerves, you noted that upon touching the right cornea he did not blink, although he said he felt it. This most likely indicates there is lesion of which nerve or paralysis of which muscle on the right?
A. Levator palpebrae superioris muscle

B. Ophthalmic division of CN V

C. Facial nerve

D. Oculomotor nerve

2. The anterior 2/3 of the tongue…

A. Receives touch sensation through the maxillary division of CN V

B. Receives taste sensation through the facial nerve

C. Develops from the 3rd pharyngeal arch

D. Receives pain sensation through the glossopharyngeal nerve

3. A lesion of the right glossopharyngeal nerve would result in…

A. The uvula deviating to the left

B. Loss of general sensation of the right half of the hard palate

C. Paralysis of all the right pharyngeal muscles except for the stylopharyngeus

D. Absence of the gag reflex on the right 

4. The inferior alveolar nerve was accidently severed during a surgical procedure. All the following would be present EXCEPT

A. Mandible deviates toward the left during opening

B. Anesthesia of the left mandibular arch teeth

C. Anesthesia of the skin of the left lower lip and chin

D. Anesthesia of the left labiobuccal gingiva from incisors through premolars

5. All of the following muscles acting bilaterally can protrude the mandible EXCEPT?

A. Inferior head of the lateral pterygoid

B. Medial pterygoid

C. Superficial head of the masseter

D. Deep head of the masseter

6. You perform block anesthesia of the right maxillary division of CN V. All of the following would be present on the right EXCEPT?

A. Anesthesia of the buccal mucosa

B. Anesthesia of the upper lip

C. Anesthesia of the maxillary arch teeth

D. Anesthesia of the labiobuccal gingiva from incisors through molars

7. In the routine evaluation of your patient’s oral cavity you ask that she protrude her tongue. The tongue deviates to the left. This could be due to a lesion of the …

A. Left glossopharyngeal nerve
B. Left lingual nerve

C. Left hypoglossal nerve

D. Right glossopharyngeal nerve

8. Which of the following is related to the parasympathetic innervation to the parotid gland?

A. Facial nerve

B. Otic ganglion

C. Deep petrosal nerve

D. Lingual nerve

9. The medial nasal processes fuse to form an intermaxillary segment which develops into the…

A. Philtrum of the upper lip

B. Secondary palate

C. Lateral palatine processes

D. Soft palate

10. In the normal function of the TMJ, the condyle fo the mandible articulates with the…..

A. Anterior band of the articular disc

B. Intermediate zone of the articular disc

C. Posterior band of the articular disc

D. Retrodiscal pad

11. Occlusion of the maxillary artery would result in deficient blood supply to all of the following EXCEPT?

A. Mandibular teeth

B. Maxillary teeth

C. Palate

D. Tongue

12. Which of the following structures is NOT located at the level of the sternal angle?

A. Costal cartilage of the 2nd rib

B. Bifurcation of the trachea

C. T4/T5 intervertebral disc

D. Right recurrent laryngeal nerve

13. Which of the following statements about the internal thoracic artery is INCORRECT?

A. It is a branch off the subclavian artery

B. It communicates with the inferior epigastric artery via the superior epigastric artery

C. For part of its length, it is found in the middle mediastinum

D. Blood in the artery can reach the descending aorta via anterior and posterior intercostal arteries if there was a coarctation of the arch of the aorta

14. The left recurrent laryngeal nerve can help locate the…

A. Sinus venarum

B. Ligamentum arteriosum

C. Ligamentum venosum

D. Fossa ovale

15. Which of the following relationships is INCORRECT?

A. External abdominal oblique aponeurosis/fascia – external spermatic fascia

B. Transversalis fascia – superficial inguinal ring

C. Genital branch of genitofemoral nerve – innervation to cremaster muscle fibers

D. Muscle fibers of the internal oblique and transverses abdominis – roof of inguinal canal

16. Femoral hernias occur…

A. Immediately medial to the femoral vein

B. In the femoral canal

C. Immediately deep to the inguinal ligament and lateral to the lacunar ligament

D. All of the above

17. Which of the following statements is INCORRECT?

A. Sartorius is the lateral boundary of the femoral triangle

B. The great saphenous vein drains into the femoral vein through the saphenous opening (hiatus)

C. The superficial inguinal lymph nodes receive drainage from the lower abdominal wall and the gluteal region of the body

D. The femoral nerve lies medial to the femoral artery

18. The common bile duct, portal vein and proper hepatic artery are found in the free edge of the…

A. Hepatogastric ligament

B. Right coronary ligament

C. Hepatoduodenal ligament

D. Omental bursa

19. Which of the following statements about the general organization of the abdomen is INCORRECT?

A. The pancreas is retroperitoneal

B. The ligamentum teres (hepatis) is the umbilical vein in fetal circulation

C. The stomach is in the anterior wall of the omental bursa

D. The sigmoid colon does not have a mesentery

20. Organs that are completely peritonealized….
A. Are suspended on a mesentery 

B. Do not have GSA pain fibers in the nerves that innervate them

C. Include the stomach and the spleen

D. All of the above 

21. The head of the stethoscope should be placed parasternally over the left 2nd intercostal space on the anterior chest wall to best hear the sound of the…

A. Tricuspid valve

B. Pulmonary valve

C. Mitral valve

D. Aortic valve

22. Which of the following statements regarding the innervation of the heart is CORRECT?

A. The cardiac plexuses receive preganglionic parasympathetic fibers from the vagus nerves

B. Electrical impulses from the SA node travel over the common AV bundle and its bundle branches to reach the AV node

C. The cardiac plexuses receive preganglionic sympathetic fibers from the sympathetic chain ganglia

D. The sympathetic innervation of the heart begins in preganglionic sympathetic  neurons located in the T4-T8 segments of the spinal cord

23. Which of the following vessels does NOT drain directly into the superior vena cava?

A. Left brachiocephalic vein

B. Hemiazygos vein

C. Right brachiocephalic vein

D. Azygos vein

24. As can readily be seen in standard cross section, the anterior surface of the heart is formed by all of the following chambers EXCEPT the…

A. Right atrium

B. Right ventricle

C. Left atrium

D. Left ventricle

25. Reduced blood flow in the anterior interventricular artery caused by a severe stenosis (narrowing) at its origin could be partially restored by collateral circulation provided by an anastomosis of the distal end of the anterior interventricular artery with the distal end of the…

A. Left coronary artery

B. Circumflex artery

C. Right coronary artery

D. Posterior interventricular artery

26. Which of the following is NOT an internal feature of the right atrium?
A. Crista terminalis

B. Chordate tendinae

C. Fossa ovalis

D. Ostium of the coronary sinus

27. There is a high incidence of carcinoma at each of three natural constrictions of the esophagus. One of these constrictions is located at each of the following levels EXCEPT…
A. The esophageal hiatus of the diaphragm

B. The bifurcation of the trachea

C. The jugular (suprasternal) notch

D. Just inferior to the cricoid cartilage

28. In the thorax the normal position of the thoracic duct is…

A. Medial to the azygos vein

B. Medial to the descending aorta

C. Posterior to the esophagus

D. All of the above

29. Which of the following conditions is NOT part of the Tetralogy of Fallot?

A. Ventricular septal defect

B. Right ventricular hypertrophy

C. Patent foramen ovale

D. Pulmonary outlet stenosis

30. On its way back to the fetal heart, oxygen rich blood form the placenta passes through all of the following channels EXCEPT the…

A. Ductus venous

B. Umbilical vein

C. Paraumbilical veins

D. Inferior vena cava

31. Embryological rotation of the gut causes the…

A. Displacement of the duodenum to the right

B. Anterior shift of the left vagus nerve and posterior shift of the right vagus nerve

C. Displacement of the stomach to the left

D. All of the above

32. Injury to both the superior mesenteric artery and the vagus nerves would affect which portions of the colon?

A. Ascending and descending segments

B. Transverse and sigmoid segments

C. Ascending and transverse segments

D. Transverse and descending segments

33. The descending colon…

A. Along with the transverse colon, forms the left colic flexure

B. Begins at the cecum

C. Is usually suspended into the abdominal cavity on a mesentery

D. Is supplied by a branch of the superior mesenteric artery

34. The most medial of the muscles of the posterior abdominal wall is the..

A. Rectus abdominis 

B. Psoas major

C. Quadrates lumborum

D. Iliacus

35. The posterior intercostal veins normally drain directly into the…

A. Superior vena cava

B. Inferior mesenteric vein

C. Azygos system

D. Gonadal vein

36. A lesion of which of the following nerves could cause damage to the preganglionic sympathetic innervation to the liver?

A. Lumbar splanchnic

B. Pelvic splanchnic 

C. Vagus

D. Greater splanchnic

37. If an abdominal cavity infection spreads retroperitoneally, which of the following structures would most likely NOT be affected?
A. Descending colon

B. Duodenum

C. Pancreas

D. Spleen

38. All of the following statement concering the transverse colon are true EXCEPT

A. It has taeniae coli and epiploic appendages

B. It is retroperitoneal

C. It receives sympathetic innervation form the superior mesenteric ganglion

D. The superior mesenteric artery provides most of its blood supply

39. Obstruction of the superior mesenteric artery immediately inferior to the origin of the middle colic artery may reduce blood supply to the ….

A. Descending colon

B. Duodenum

C. Ascending colon

D. Spleen

40. Preganglionic sympathetic innervation to the hindgut is supplied by…

A. Greater splanchnic nerves

B. Lesser splanchnic nerves

C. Pelvic splanchnic nerves

D. Lumbar splanchnic nerves

41. A periapical abscess of a mandibular 1st premolar tooth initially spreads lingually into the ________________________fascial compartment. Left untreated, this would most likely next spread directly into the ___________________________fascial compartment. 

42. The mandibular division of the trigeminal nerve innervates 4 primary muscles of mastication plus the __________________________, _________________________, ______________________________ and ____________________muscles.

43. During an inferior alveolar block injection, the needle pierces the mucosa of the pterygomandibular triangle. The lateral boundary of this triangle is the deep head of the temporalis muscle while the medial boundary is the _____________________. 

44. In the scapular line, the oblique fissure of the lung is located at the leve of the ____________________rib. 

45. If the neck (origin) of a hernia is found to be located immediately lateral to the pubic attachment of the rectus abdominus muscle and medial to the origin of the inferior epigastric vessels, it is defined as a/an ___________________________hernia.

46. In the posterior thorax, preganglionic sympathetic fibers leave the sympathetic chains and form the ____________________ nerves that course inferiorly through the diaphragm to reach their targets in the abdomen.

47. In the adult, there is small fibrous band that connects the superior aspect of the left pulmonary artery to the inferior aspect of the aortic arch. In the embryo this fibrous band was the _________________________________. 

48. All of the cardiac veins drain into the ______________________________which is located in the posterior aspect of the left atrioventricular sulcus.

49. The greater omentum is connected to the _______________________curvature of the stomach and contains the ______________________________________artery.

50. The position of the left kidney is typically ________________________to the right kidney when viewed on an AP X-ray. 
